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I Semester B.Corn. er*Snation, April/Ma y 2021

(CBCS) (F + R) (2014 - 1s and Onwards)
LANGUAGE SANSKRIT - I

Yakshaprashna sangraha - Grammar and comprehension

Time : 3 Hours Max. Marks : 70

lnstructions : i) Answer in sanskritlKannaLaEngfisn.
ii) Question l, V and Question Vt should be answered in

Sanskrit only.

I qm*+qrqftrga 
r

froo$id en:dddd: ero& udobo.
Select the correct answer.

1) q'q. fthfta-*r1i
3T) {rsilqurq 3rr) Tf,ffiqr

2\ "{q51q.{. " g61r1g6qq mfrT.q-dFr q$t i
sD s{Tffir e+r) f+azrdfrr

s) {frtct: H: ?

a0 gPTft{: 3{T) a{{a,

4) q6slffirff{t: !S: I

30 gPTB{: 3{T) rfrq,

o) qrosffiifr-orw: rrqfr 
r

s{) $w: e{T) [d{rg: ,

7) Er.il.{ftu-atfr rrdft ?

er) qrdr 3{D flq-dr

B) qfurd.f*fr*q i
aT) HTti: a[D qmt

5)'gqlraqq {E}t* ffi' qft m, qfrf,i p-o-+r1 e

B0 gftTG{: efl r*{:

E) rraqrmq

$ qqrdFr

$ E*sH'

$ 3t-{q.

$ s{-{q.

$) vro-$:

$ rr{:

E) firqt

{l wr$<mq

iystaffir

$) Sq,

{1 rg,r:

$ rgm:

{) Eq-q'

$ fr;or

$ EIt

(10x1=10)SE5-r

P.T.O,
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e) 3{rgs fh firdq I

a) Href:

$ tur{
10) EuPqqgT(fr *-dfr ?

Ififlilililllltffililtiililtiltil

e0 qrdr 3{D flq-dr

3Tr) t{qt

{l qr,i

q) -H,
i

i1 fu<r

ll. g3}: swq): lq;emqqsrr frsa r

addr {,d*dgri {,uofdndd0_ erodoru.

Answer any two questions.

1) {drqKil€T yq-*ifusa 
r

a5:maepddd araidd]. &0& ilretoQ z;do:Jo.

Write an essay on the development of Mahabharatha.

2) Tdr{ qr{{Ese{r gPTBt. mei fqerorq ?

d;,dcnd rdoe*OCQ doeA olDe.\dab derl asandd: r
How did Yudhishtira lament on seeing his brothers dead ?

s) qqrr+Eirrq mqirifa frso r

obd_Sd* no!,dd ddo$Q_ doEdaCIh ud*:0.
Write in brief the story of yakshaprashna Sangraha.

I ll. T{ruri r_d-smlq st-fnri T-dr ft-ggd r

ahJa& dq€dddd1 esd)arlosi edotu.

Translate and expiain any three shlokas.

t; urlis5rfr qEa;nRqSqfrqr: 
I

q+Afrkdr' qA srf,{r*T*q{r: u

2) iqi Yrrxs-tnlsfr qE ffi osfuq r

Tdr6Rqq+ srdt+{tril: II

a) qrw frdT {m sk( or+dr fu qsfuq 
r

ds?i Tqq{i z1-fl: $ei fr'g{rrear. r r

(2x10=20)

(3x4=12)

htt
ps:

//U
niv

ers
ity

ne
ws.in

https://universitynews.in

https://universitynews.in



llllllilllilllillillllJlllilllil -3- ep - 0e3

4) rnsr+r hr.nrf,{r: dqtge+.r, &;qrR-dT. I

3i-S-dr vgqi s.C fr rlsEi gsv$u: r r

5) <rpiqcrq trd<rqtmq,.iq{r.r
qsffiHd{ffiEq-{u

]V. eq): qrflq): v{Fq{ tq"id I i 
(2x4=g)

add eDdddddi *odqJritod edotu.

Explain any two sentences with reference to context.

1) *d qqr tnq{i d-{rgqr: I

2) 316 qfr: $-{rrfcFrqqi: I

3) t1Ag wunpf i rlqraf {rwg I

4) q qqgE*r rrq-{lTqrfto rdqfrr 
t

v. +tt5.asnqqrr.nfrso r

lcdd qr(c$e_ erudo,b.

Answer in Sanskrit.

a) urr:rtffifrqdt (5x1=g)

1) afr: s) ah
2) ilI: 6) ert

3) erit-{: 4 gfdqTt

4) rft{+i B) aqr(
O1 uauicT6R$q-dq-{Hftrso r (5x1=5y

1) qnril sy ent-+1

2) T@rfr 6) fqtrg

s) .rdR 7) G-f,flrq
,r ^-G-4) oiig B) qmfr
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vt. gc qftdq qB.qr srqrrr{gfr{rftr fusd I 15x2=!g)
gu urr+.rt riil il-q {iq-dqr,fl 6q, qrft: 31r*( I .trpr o{-€effi {g{; fraiq, sEl-{r:
q s{Erfrd r qtq: wi qGd. gr-at-{; qB: q 3rdE I qsn.rqTqui qrq {fti srdi
tiq v"ftil{ r {: r':rT s*{frffiuT srqe, tw, gq*i ut xu-666 ffi: vde
lEdrd{E I frds qrTtqi qrfuqTqtqq; sgr; E[Ef-:t; qftFrr I T{qft 6ffir.i {Tc"rT,
tfuqurrer: erRHrKqT{raE rt tfoqcqnqTysw : rqiskaagq-6 . 

I

ltFt'r:

1) erg1-ar1qqq r1vft: tR: ?

z) qrXrflqq ffi qirqq ?

3) ftqsffi: meivqm sTrSE ?

+) mrfuflqrqq: tn-sr {rII: snry} qrrq-{ ?

5) sffi*qgqrmT. I
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